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Al. X

A = 2758493871260897643

B = 3187976043287582694

B — A = 429482172026685051
44+249+4+84+24+1+74+24+0+24+64+6+8+5+0+5+1=72
2 ;

T+2=9



A2. (Ramanujan)

(Hardy)
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B3- R4 U= (121,1'2,1'3,1‘4)

U_i = <_x27x17_x47x3)

U_é - (_I37 Xy4,21, _xQ)

/U_é - (—$4,—$3,Z’27l’1)
, U1,02,03 U

vl 4+ B+ =0 = a=f=7=0

B4. x
Yy 'y Yy
(2,9) a(z,y)
a(0,0) =1, a(1,0) =2, a(1,1) =
3, a(2,0) =4,. .. x
Yy

b(w,y) (
b(0,0) = 1, b(1,0) = 2, b(1,1) = 3, b(0,1) = 4, b(2,0) = 5,. ..

co(x,y) (z,y)
1

(1) 0<zx<y T,y a(z,y) = vy

(2) 7,y clry)  blxx) x
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